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-------------------------------------------
--------------ANSWER-26-BELOW--------------
-------------------------------------------

Answer-to-Question-_26_

Corporation tax payable

1)

three month period

25%

£40,000 less thna £50,000 lower limit

MARGINAL RELIEF
3/200 x (Upper Limit 250,000 - Augmented profits) X (TTP/ 
Augmented profits)

COporation tax paybel for period ended 30 June 2024 

250,000 x 3/12 = 62,500

50,000 x 3/12 = 12,500

40,000 x 25% = 10,000

marign al rleif 3/200 x (62,500 - TTP 40,000) = £337.50

10,000 - 337.50 = £9,662.50 PAYBLE
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2)
filign date and due tae for payment for period to 30 ju

filign date is 1 2months form end of acocutning period . so 
filing date is 30 June 2025

payment date is 9 montsh and 1 day from end of acocuntin 
period as this is a nomral comapnyt. so payment date is 1 
April 2025

-------------------------------------------
--------------ANSWER-26-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-28-BELOW--------------
-------------------------------------------

Answer-to-Question-_28_

Proceeds

Cost

extgension

Proceeds 

SBA 3%,

Add SBA to proceeds

Explain

SDLT added on to cost of purhcase

extension added to cost

legal fees taken awya form cost

for calulcating the chargbeal fgain of hte slae of thw 
warehosue. SDLT of £3,750 will be added to the cost of hte 
purhcase wwahcih will reduced the chargeblae gain

the extrension to the wearehosue had SBA callowancesa of 
£3,150 claimed. this £3,150 will need to be added on to the 



Institution CIOT - CTA
Course / Session Awareness Exam Mode OPEN LAPTOP + NETWORK
Extegrity Exam4 > 23.11.8.64 Section Page 10 of 27

__________________________________________________________________________________________ 

proceeds of the doispaosla on 1 January 2024 which will 
increase the chargeable gain.

THe price of hte extensions will alos increase the cost 
which will reduce the chargbel gain.

the legal fees of £3,000 incurred ont the dispsoal will be 
taken awaay form the proceeds which will reduce the chargebl 
gain.

chargeable gain reducedd

-------------------------------------------
--------------ANSWER-28-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-29-BELOW--------------
-------------------------------------------

Answer-to-Question-_29_

Rollover relief

EXPLAIN

both BUILDING aqnd FIXED PLANT AND MACHINERY

no indexation here because all happens after Decemher 2017

wihtin 3 years so qualifes

Paka bought a building for £275,000 form an unconnected 
company. this £275,000 is hte cost of the building. the 
building was sold for £320,000 proceeds

the origanl gain of hte buidlgn is thref £320,000 - £275,000 
= £45,000 gain

this gain can be deferred via rollover relief

paka bought fixed plant and mahcinery in january 2024. this 
is wihtin the 12 months beofre he sold the othe rbuidlng on 
marhc 2024. thereofre this qualifes for rolloer relirff

Paka bought the fixed plant and maahcienry for £290,000

therofre w eget to roll in some of the 45,000 gain.
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£320,000 - £290,000 = £30,000 gain immediately chargeble as 
this is not able to squeeze into the fized pland and 
mahcienry cost. 

However, hte other £15,000 is able to fit into th fizxed 
palnt and machienry cost. therfore this will amoutn foht 
egain will be deffered until the eventual sale of hte fizxed 
plant and mahcierny

rolled over by reduceing teh csot of £290,000 - £15,000 = 
£275,000 new cost

also both assets used in trade so qualfies for roolvover 
relif

-------------------------------------------
--------------ANSWER-29-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-31-BELOW--------------
-------------------------------------------

Answer-to-Question-_31_

1)
ways in which oculd relive traidng loss year nended 31 marhc 
2024

wholly owdnd subsisrya

Years ohter way round in quesiont, ealriesto  on right hand 
side

Bapple Ltd may rleieve its trading loss of £30,000 in year 
ended 31 marhc 2024 by offsetting loss agaisnt its 15,000 
profit by a current year claim. it coudl also carry back the 
tarding lsos aaignat the £200,000 of hte preiovus year 
end3ed 31 March 2023.
Bapple could also carry forwad the 30,000 loss agasint the 
futre year profit of £300,000 in 31 marhc 2025 year.

Bapple coudl also set its tardign loss of £30,000 agians t 
amplar litmited's trading profit of 40,000 in the same year. 
it cna do htis because both ccomapnyies are in a group and 
boht comapnies are UK. could also set aagaisnt amplar's 
profit of 45,000 in 31 marhc 20023. 

seciotn 64

2)

how shodul tading loss be rleived
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to save the amximum amoutn fo thxz ti owuld be best to set 
the bapple trading loss of £30,000 agaisnt this year's 
profit becuase of hte coperaiotn tax increae to 25% as 
opposed ot last years' which was only 19%. it can set htem 
agiasnt its own taridng proift of 200,000 form last year 31 
amrhc 2023

don't want to waste the annual exewmpt amount of £6,000

-------------------------------------------
--------------ANSWER-31-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-32-BELOW--------------
-------------------------------------------

Answer-to-Question-_32_

1) 
Subsatiln shares hodlign exetmipn

for substaintal shareholdign exemption to apply teh followng 
condionsts must appoly

Subastainl shareholding

at least 10% of shares must be held

these shares must be held for a perido of 12 months before 
hte sale fo the sahres

msut be within 6 years of the first commericfal sale of the 
company that the shres are issued. 

Qaulifygin compnay

must be a trading compnay, 

or a trading subgroup

this tading comaphny msut have been tarding for the whole 
period startin form the start of the 12 months period of 
holdign of hte shares all the way unitl the shres are sold

2)

IN this case with teh sale of shcaes in Acarraaa Ltd on 31 
marhc 2024 Gymna bought 5,000 ordinary shrae.s 5,000 shares 
out of 100,000 shares is 5%. so it does not meet his 
condiotn. 5% sharehodling is held that is not enought. needs 
to be at least 10% to be sutbstainal shareholding
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HOWEVER when guymna bought a ufhter 7,000 shares this means 
tha tgymans owend 12% (7,000 + 5,000 = 12,000 shares which 
out of 100,000 shares is 12%). this is at elast 10% so is 
subastanil

thBUT the shares were not held for 12 months before sale. so 
Susbtanil shareholdign exemption does not apply.

-------------------------------------------
--------------ANSWER-32-ABOVE--------------
-------------------------------------------
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2) cash reapyament form hmrc

diffence corpaiotn tax payble minus rdec 20% credit. cash 
repayment form HMRC in respect of the RDEC wil be £2,000,000 
x 20% = £400,000 RDEC Credit

cash repayment form hrmc in repsct of the RDEC will be 
£400,000

-------------------------------------------
--------------ANSWER-33-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-36-BELOW--------------
-------------------------------------------

Answer-to-Question-_36_

1)
due dates for FILING and PAYMENT

normal comapny, not reuqired to pay tax by instalmetns

normal comapny filing date is 12 months form end of 
acocuntin priod

normal compay paymetn date is 9 months and 1 day form end of 
accounting peirod

in this case year ended 31 march 2022
acountin prieuod to 31 march 2022

Filing due date = 31 March 2023

Payment due date = 1 January 2024

2)
penalites

THIRDF CONSECTUTIVE TIME, £500, £1,000

late ifling penalties

wihtin 3 moths is a £100 penalty normally

over 3 months mneans another £100 penalty normally toatlling 
£200

HOWEVER here ebcuase this is their third consecutive 
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offencte tehese penalties are increased

as the filign was due on 31 Ma4rch 2023., and they submitted 
on 31 Ocotber 2023. the coampmy hjas filed it 7 months late.

therfore teh comapny wil be subejct o t a nealty of £500 for 
the first penalty of being with in 3 moths late. then teh 
comapny will also be suebcjt to another £1,000 penalty for 
being over 3 monhts late. toalling £1,500 penalty for th 
ecompay

-------------------------------------------
--------------ANSWER-36-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-37-ABOVE--------------
-------------------------------------------
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43,000 list price

120 - 75 = 45

45 / 5 = 9 + 20% = 29%

43,000 x 29% = 12,470

-------------------------------------------
--------------ANSWER-38-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-39-BELOW--------------
-------------------------------------------

Answer-to-Question-_39_

interest relief

interst on a loan for business purposes will be allowbale

therfore for the interst of £5,000 which relates to the 
£100,000 loan we need to work out how jmuch of hte interst 
relates to busihess purposes

£90,000 of loan used to buy property whihc is a buseinss 
purposes

therefore 90,000 / 100,000 = 90% of the loan used for 
busienss purpoese

so 90% of £5,000 interst is given as relief for busienss 
pupsroes. £5,000 x 90% = £4,000 relief.

this relief will be given agaisnt taxable income

the £10,000 used for the holdiay is not for busiens 
spurposes. 

-------------------------------------------
--------------ANSWER-39-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-43-BELOW--------------
-------------------------------------------

Answer-to-Question-_43_

tax implcaiton of the share transacionts

SEIS 50% relif, must hold for 3 years. 350,000 assets. must 
be wihtin first 3 years of company staring

Walt subscirbed fo r£180,000 under SEIS> therfore originally 
Walt got 50% rleie. this relief is £90,000

so far he has not sold these SEIS shares so he will get to 
use this 90,000 relief agasint his tax liabilty o f£82,000

in regaed to EIS he sodl shares on 7 feb 2024, this is 
wihtin 3 years of he4n he bought htem in augausts 2021. 
therevore there will be clawback of relief.

teh clawback will be the lower of the amount he paid and hte 
amount he sold

thereofre lower of 100,000 x 30% and 42,000 x 30%

therfore as lower it will be 42,000 x 30% = 12,600 clawback

this clawabck will increase walt tax liabilty

So

income tax liabilty £82,000

less SEIS relief (90,000)

Add EIS clawback 12,600
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equals final tax liabilty of £4,600

-------------------------------------------
--------------ANSWER-43-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-44-BELOW--------------
-------------------------------------------

Answer-to-Question-_44_

the perosn liable for high income child benfit charge will 
be hte higher earner

every £100 over 50,000 threhold there is a 1% charge, this 
charte is taken off tax libaitliy

Tom and meg are married. 

perosnal contrihuionts 2,400 x 100/80 = £3,000 to deduct 
from proifts for Meg

So 56,000 + 1,500 property inocme - £3,000 = £54,500. this 
is a bigger salry tahn tom of £52,000

therefore Meg as the higher earner is liable fo rht igh  
income child benfit charge

amoutn fo charge is £54,500 - £50,000 = £4,500 / 100 = 45%

so £2,074 x 45% = £933.30 charge

-------------------------------------------
--------------ANSWER-44-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-47-BELOW--------------
-------------------------------------------

Answer-to-Question-_47_

up to 5 years oversae

4 of last 7 years uk resident

WHen ben was in Farnce he was only in france for less than 5 
years.  

usually wehn non t uk reissdine tyou are not usbejct to uk 
captial gaisn tasx, however htere are excpetions to this.

exception inlcude hwerne you have been uk residnt for 4 of 
the past 7 years.

when you are not out of the UK for at least 5 years.

thefreo the shares in the UK tardign compnay of £65,000 will 
be liable to UK CGT as eh had been residnet for 4 of the 
past 7 years

hte wathc inhertied form uncle will also be liable to CGT as 
he had been resedint for 4 of th epast 7 years.

howeve,r hte resdineatol propety in france will not be 
liable to UK CGT. this is becuase ben both bought and sold 
the property for a gain of £22,000 while he was not a UK 
resident. 

-------------------------------------------
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--------------ANSWER-47-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-48-BELOW--------------
-------------------------------------------

Answer-to-Question-_48_

pnealty for failing to notifiy chargebality

need to noify charhgbley by 5 Ocotober
how ewill penalty be caluclated

mistake up to 12 moths form submission of reutrn for no 
penalty

started to recived rent on opropeyt on 1 May 2022. peter and 
Claire needed ot have notifed HMRC of their chargeabtiily by 
5 October 2022.

2022/23 return was due for submission on 31 January 2024. 

mistake was spottedi nJanaury 2024 which is over 12 months 
after they shoudl ahve notified HMRC of thei rchargbelity.

however the error was careless and unpropmnted. therfore the 
penalty will be caluclated as follows.

the minimum penalty will be 0%.

the maximum penalty will be 30%.

The penalty precnentage will be based on the amoutn fo 
proepty income which was not origanlly decalred. this is hte 
same amoutn fo proepty incoem that claire and peter incldued 
in teh 2022/23 tx return. 
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-------------------------------------------
--------------ANSWER-48-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-49-BELOW--------------
-------------------------------------------

Answer-to-Question-_49_

1) FLAT RATE

45p for first 10,000 business miles

25p for over 10,000 busines smilse

business miles.

flat rate expneses will be 8,000 business miles x 45p = 
£3,600 allowable

2) ACTUAL EXPNESES

apportion to amount of year 1 july 2023 ot 31 marhc 2024

high emissions car 

9/12

high emissions

(115 - 75)/ 5 = 8 + 20% = 28%

15,000 x 28% = £4,200

£4,200 x 9/12 = £3,150 car benefit
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£27,800 x 28% = £7,784 fuel benefit

allowable deduction for parkign of bsuiehnss journeys = £150

-------------------------------------------
--------------ANSWER-49-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-52-BELOW--------------
-------------------------------------------

Answer-to-Question-_52_

Class 4

Class 2 3.45 by weeks

taxable trading income £28,000. ignore the loss of 4,000 
offset agaisnt other non trading income

Class 2 is £3.45 x 52 weeks = £179.40

Class 4 is £28,000 - 12,570 = 15,430 x 9% = £1,388.70 

Alan's class 4 NICs will stop the year after he reaches 
state pension age. so he will sotp paying class 4 NICS in 
2025/26

ALan's class 2 NICS will stop the month he reacehs state 
pension age. so will sotp paying class 2 NICS in 2024/25

-------------------------------------------
--------------ANSWER-52-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-55-BELOW--------------
-------------------------------------------

Answer-to-Question-_55_

how rleif may be given for trading loss

a section 64 claim may be made to carry back the 140,000 
trading loss agaisnt the preivous small proifti in 2022/23

a seciton 64 claim may also be made agasitn the current yera 
singincat employmetn income and the preiovsu year 
significant employen income. however this will be restrcited 
to the greater of £50,000 and 25% of adjsuted profits.

a section 83 claim may be made to carry forward the tareding 
loss of 140,000 agiasnt the 2024/25 signiact employment 
income. resciotn to lower of loss and profit.

-------------------------------------------
--------------ANSWER-55-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-56-BELOW--------------
-------------------------------------------

Answer-to-Question-_56_

for the cost of travel form home to the studio thsi will not 
be deducitble sinc e this is ordinary communitng to twork. 
hterofre this amount will need to be added back to Kellan's 
trading profits.

the priemum padi on the grant of the lease is deductible 
from trading proifts. teh whole preimiume paid wil be 
deudibtle

the legal costs relaitng to the grant of  the lease will be 
deductible. therefore they may stay as deducted.

the cost of th etraingin course for his new qualificaiotn 
will b efully deductible as a capital expense. 

-------------------------------------------
--------------ANSWER-56-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-59-BELOW--------------
-------------------------------------------

Answer-to-Question-_59_

The capital gains tax implications fo rmichale onf teh 
tarnsfer of ht ebuildng

Michale paid £140,000 for the buildng. he transferred it 
into the parnjtersip fo rmakre vlaue of £300,000

this is a part disposal

michael will renatin 40% of the ownership

so £140,000 cost x 60% ownership he has lost = £84,000 Cost

Makret value 300,000 x 60% ownrship he has lost = £180,000 

so 180,000 - 84,000 = £96,000 gain

upon transferrin hten immeidate gain of £96,000 will be upon 
michael. he can deduct from this hte annual exemt amount of 
£6,000.

how relief may be given for his capital loss

for the unrleifv capital loss of £45,000 he may use this 
agaiont future cpaital gains and same eyar gains.

therfore, michael can use theis 45,000 loss agiasnt the 
96,000 gain. this reduces the gain to £51,000
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-------------------------------------------
--------------ANSWER-59-ABOVE--------------
-------------------------------------------
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-------------------------------------------
--------------ANSWER-60-BELOW--------------
-------------------------------------------

Answer-to-Question-_60_

interst and penalties

2022/23 online reutn due on 31 January 2024. both filing and 
payment due on 31 Jnaury 2024.

laura both filed and paid late over 30 days by filing and 
paying on 23 March 2024

pnelaty for late filing of £100 for over 30 days late. so 
lauara msut pay £100 penalty

Laura must also pay a 5% penalty for a payment of over 30 
days late. this is 5% of 3,200 = £160

also hmrc late payment intrest of 6.5%. this is 6.5% x 3,200 
x 50/365 = £28.49

wehter laura and patrik reuiqted to make paymnenst on 
account

Laura and patrick are both required to make payemtns on 
acocunt for 2023/24.

tehse payemnts on acocunt will b eon 31 January 2024 and 31 
July 2024.

each payment on account will represrnt 50% of last year's 
liability. the balancing payment will be made on 31 January 
2025

50% of 3,200 = £1,600 payment on account for laura on both 
31 January 2024 and 31 July 2024
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50% of £800 = £400 payent on accoutn fo rpartick onh both 31 
Januayr 2024 and 31 July 2024




